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7 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 5.79 72.40 | LSt | 000 ~ 0.00| 1.66 8.38 ThList 1.00 | .00 ~ 6.60 72.40 | TS | 6,00 ~ 6.60| 1.66 8.38
2 100kN/mM%BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 6.09 76.38 | FnLS | 0oo ~ o000| 1.78 8.985 ThList 1.00 | 6.00 ~ 7.00 76.38 | TN | 5.00 ~ 7.00| 1.78 8.95
3 100kN/m%E#BZ5 | 1.00 | 000 ~ 050 107.34 |3mEBZD| — ~ — — — | 100kN/ %825 | 1.00 | 11.22 ~ 1290| 107.34 |3m%E#Z5 - ~ — — —
s 1.00 | 050 ~ 828 100.00 | =0t | 0.00 ~ 828\ 2.02 10.23 ThList 1.00 | 6.00 ~ 1122 100.00 | =4 | 5.00 ~ 1290 2.02 10.23
4 100kN/m%E#8BZ5| 100|000 ~ 119 117.90 |3mEBZD| — ~ — — — | 100kN/mM%E#BZ5 | 1.00 | 1093 ~ 1530 117.90 |3mE#BZ% - ~ — — —
s 100|119 ~ 897 100.00 | =nst | 000 ~ 897 | 224 11.30 s 1.00 | 6.00 ~ 1093 100.00 | =nLst | 6.00 ~ 1530| 2.24 11.50
5 100kN/m%E#8BZ5| 100|000 ~ 113 11699 |3mEBZD| — ~ — — — | 100kN/mM%E#BZ5 | 1.00 | 1056 ~ 1400 116.99 |3mE#BZ% - ~ — — —
s 100|113 ~ 891 100.00 | =0t | 0.00 ~ 891|223 11.25 s 1.00 | 6.00 ~ 10.56 100.00 | =5t | 6.00 ~ 1400 2.23 11.25
P 100kN/mM%EBZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 448 556.91 | #nLS | 000 ~ 448 1.93 9.74 s 1.00 | 6.00 ~ 5.00 55.91 | =hLs | 6,00 ~ 5.00| 1.93 9.74
7 100kN/mM%E{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
ZhLlst 1.00 | 000 ~ 469 5842 | #=hst | 000 ~ o000| 1.63 823 ZFhst 1.00 | 5.00 ~ 5.00 5842 | Ths | 5.00 ~ 500 1.63 823
3 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhnLst 1.00 | 0.o0 ~ 631 79.25 | Fhs | 0oo ~ o0.00| 1.69 8.65 ZhLst 1.00 | .00 ~ 742 79.25 | FhS | 6,00 ~ 742\ 1.69 8.656
9 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhLlst 1.00 | 000 ~ 6.18 77.62 | #nst | 000 ~ 0.00| 1.61 816 zhLlst 1.00 | 6.00 ~ 7561 77.62 | NS | .00 ~ 7561 1.61 816
10 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
zhlst 1.00 000 ~ 4.74 59.10 | #hst | 000 ~ 0.00| 1.66 841 ZFhst 1.00| 5.00 ~ 5.00 59.10 | Ths | 5.00 ~ 500 1.66 841
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ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM%E{BZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~




